o= Qs Al 42 ol 126 H 27 134 R} 2o
F2ol Sl 5 AW

e



4R FSHE 7122 B 9ol 0.F 2410 o] w25,
AZAAA &2 AZE ol goke] HES AR T st HES

1Rtk 5H, A% dkm 2 Aol A Zehrt & o)
L g3E ol galok 7

12 Ko fo
rr
fn)
>
N,
m\l

2 | ol

@ %km @ 1km ® %km @ gkm ® 2km



3.

= 5O1A y7t x o darkR]l A BE et

O 9HI =017t 42 2em F xem 9 A2 E 9] Yol= yem
o]

#
o},

@ 7122 A22Q dol7F 242t 2em & xem @1 AAFZFS 9] £ 9]

Zol= yem©|th

@ y=x(x-4)
® 189 B3R 9 o, 629 FIARE yHolc,

® AZo0] xm¢ §49] Yol ym2o|t},



HE SRS B u) H4(°C) Ei 8 (F) 2 ehdict.

F)2 =
e °C = 2(F - 32) € WAl FRTBE AN et

o
ar

rel

=

57247} S Ehg £R o] SA R A7) Hi AL S @

K

O 95105 @ 95t 20% ® 9st30%



